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Auqag,abeh S. |26

o) m=Mo ; Var(X) =Mz ; & = 1058
8) =450 ; Var(X) =45 ; ¢ ~ 6F
c) m=85625; Var(x) = 1%06; & ~ 335

Aus PEENE - RaS £ (1)
¢cr= np (1-p) —/us('l p) &> ——.*(’? p)e p= 1—;; |
a) P=02 4n (1) : n="100
£) p=05 t (1): m=36

n=10; p=0% |, Also u=mp=4% wnd & ~ 7S5
a) P(x=5)= 02000

6) P(X< )= P(X<4) = 0,6331

0 'P()(s,),uo')‘lP(X&S,SS)=PO(€-S)=0,5’338
o) PUIX-pl<100)= P (|X-pl€156)=1

e) P (!X—I/.,L}>3) = P(x<1) + P (x>%#) = P'(x:o)+(j~p(xs?9)

= 0,0060 +1 -0, 9%+ = O, 0183

X: An:. des VerRehnabnde - m=250 ; p=03

!

/L,L=’7LP=?-S i Shreuung o—=(n-p(»;_,,5 ~ ¥,25

X: Aol tichhge Avfwoden ; M=20 ; p=025
]) m=np=

&) P(x > ut0)= P(X>69¢)= 1-P(X<6) = 0,2143

X: Anazll vichhge Antsorten ;| m=15 ;| p= 025

) =335 Walrschenbiclule Were: =3 undnz4
(vgt. Tbelie)

%) P(x=0)= 00134 = 7,34% : wenig glambhafe

X1 Anzald de- Sthenbleber | m=860 ; p=0,05
A m=ww; o~ ; o-Int.: [338¢; 46,16]
8) U6 in ¢ -Int: Wuckt unsew?&\_’LSG‘—auﬁ . (30,36 ; 45,24




